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T     O

20 + 9

10 + 19
Twenty nine

10 + 10 + 9
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Model Calculations

Solve… 4 + 3 =

?

3

4



Model Calculations

Solve… 8 + 1 =

8 1

8 + 1 = 9

1 + 8 = 9

8 +      = 9

+ 1 = 9







Model Calculations

7 + 4 = 11
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Model Calculations

35

+17
___ 

Solve… 35 + 17 =

T O

Key vocabulary: exchange
Can we exchange any counters?

10 10 10

10

1 1 1 1 1

1 1 1 1

1 1

1

10

1

25



Model Calculations

243

+368

Solve… 243 + 368 =

10 1
100

100 100 10 10 10 10 1 1 1

100 100 100 10 10 10 10

1010

1 1 1 1

1 1 1 1

Key vocabulary: exchange
Can we exchange any counters?

1

10 10 10 10

1010

10 10 10 10

10

100 100

100 100 100

1
110100 100

100 100 100

100

1
1

6



.





Model Calculations

Solve… 10 – 6 =

10

6

?



Model Calculations

14 – 5 = 

Solve…   14 – 5 =



Model Calculations

14 – 5 = 

Solve…   14 – 5 =



Model Calculations

14 – 5 = 9

Solve…   14 – 5 =



Model Calculations

49

-27

_

Solve… 49 – 27 =

T O

22



Model Calculations

35

-17
___ 

Solve… 35 - 17 =

T O

Key vocabulary: exchange
Can we exchange any counters?

10 10 10 1 1 1 1 1 1
2

1 1 1 1 1

1 1 1 1 1

81



Model Calculations

234

- 88
____

Solve…                    234 – 88=

2 1

6

1

14

10 1100

Key vocabulary: exchange
Can we exchange any counters?

100 10 1100 10 10 1 1 1

1 1 1 1

1 1 1 1

1 1

10 10 10 10

10 10 10 10

10 10

1





4 X 4 =

4 8 12 16

16





Model Calculations

4

6 x 4=

4 4 4 4

?

4

24









16 ÷ 4 =16



16 ÷ 4 =16 4



Model Calculations

30

Number of boxes needed =  

÷ 5 = 630

5 5 5 5 5 5

?6

In this version, we are counting how many fives go into thirty.



Model Calculations

5  615

Solve… 615 ÷ 5 =

H T O



Model Calculations

5  615

Solve… 615 ÷ 5 =

H T O

1



Model Calculations

5  615

Solve…    615 ÷ 5 =

H T O

1
1



Model Calculations

5  615

Solve…    615 ÷ 5 =

H T O

1
1

2



Model Calculations

5  615

Solve… 615 ÷ 5 =

H T O

12
1 1



Model Calculations

5  615

Solve… 615 ÷ 5 =

H T O

12
1 1

3





Model Calculations

Peter starts with 30 sweets.  He eats     of them.  How 
many sweets does he eat?

30 ÷ 5 = 630

3
5

6         6          6          6          6 6 x 3 = 18

18?



Year 1





Model Calculations

Convert 
8

6
into a mixed number fraction

8

6

1 2

6

=
2

6
1



Model Calculations

40 ÷ 8 =
Peter

Jane

£40
Peter: 5x3 =

Jane: 5x5 =

15

25

5 5 5

5 5 5 5 5

5



Model Calculations

40 ÷ 8 =
Peter

Jane

£40
Peter: 5x3 =

Jane: 5x5 =

15

25

5 5 5

5 5 5 5 5

5

25 – 15 = 10

10



Model Calculations

60 ÷ 6 =Jessie

Lisa £60
Jessie: 10x1 =

Lisa: 10x2 =

10

20

10

David

10

10

10

10

10 10
David: 10x3 = 30

30 – 10 = 20

20




